BFa2=T7o8 (PJLaO0-<>RP1)L)

| 50 kgfk

1& EnY;
2 TRk FEA(TERIERER)
3 P9 E(CRIEKRF)

4 B5H APER(ERREERRAE)
5 /R EBH(HEFER)

| 55 koik
1 B7H Rk (BEBARBEFR)
2 KAR BR(BAKREKRE)
3 Kl EXBI(HERIIKF)
4 ETIBEERART)

5 7 RB(LRFBAE)

6 At IES(ELT&EXFE)

7 AR =8 (BEBAEFER)

8 #R BH(BIUFBRKTF)

9 X¥f B (BIaRF)
10 #aK X (BASHEKRFE)
11 ™ FR(EEXRTF)
12 B F SRt (PRFERKF)
13 B RIX(BARAREKRSE)
14 B0 KIE(LFFBRAF)
15 & B O(UNHIZKRE)

16 /J\WR Ri(E2 & =)

3

9

14

11

10

15

2

2
11-4(11-4, 0-0)
4
3
TF2P4' 13 (5-1, 5-0)
9
13
TF1P1’ 29 (0-8)
10
2-6(2-2, 0-4)
15
10-3(6-1, 4-2)
1
TF1P1’ 26 (8-0)
14
TF2P4’ 52 (0-4, 0-4)
12

TF2P6’ 00 (5-4, 0-6)




BFa2=T7o8 (PJLaO0-<>RP1)L)

| 60 kgik
1 XH #—BE(BAXRARBEKRE)

2 1O 2B (HRIIKZE)
3 it BA(FBIFLKAE)
4 KN [FEFEEKRF)
5 #E)1| BRI (BASTEKRE)
6 MH R(BIEXRF)
7 KH BN #ELFERAE)
8 TIUA B/AXREEKXE)
9 Xu BA(BAEZFERAY)
10 PIHE KB CRIFKRTF)
11 71T EBAEERE)
12 HZ At (BARAFEKRE)
13 54H =S (@LUKF)
14 FRE-FEBEHERAT)
15 2 K #REB(BARRBEKRT)
16 A BEX(FRFEFKFE)
17 1L NN (BAREEKRE)
18 fEH BE(ERKTF)
19 LA EAMFR/IKXZE)
20 B8 EX(KEXELKF)

21 501 BE}(BEKXE)

1

=

7

16

21

12

13

3

TF2P4’ 10 (7-0, 4-0)

TFIPT 53(10-0)
14
F1P1’' 58 (9-0)
18
TF2P4’ 26 (0-6. 1-4)
TF1P1"15(0-13)
- 15
TF2p4 25(10-2)
T1P0’ 50 (0-8)
F1P2’ 0382-8)
EY
16
0-2(0-2, 0-0)
19
5-6 (2-5, 3-1)
17

TF1P3’ 00 (2-10)

F1P0’ 36 (0-4)

20




BFa2=T7o8 (PJLaO0-<>RP1)L)

| 66 kaik
1 W= BT (LEERAE)

2 S E BABBHRIIIKXF)

3 RE BEA(RBARF)

4 Hgih E(AASIEKRT)

5 BB ZHE(BHLUKF)

6 Hith FEH(ERFKRF)

7 WL R E)

8 ;A H(BAREKEKXRE)

9 BF RE(FPRFFRKF)
10 HAt TER (BEKRSF)
11 & £ P(EAEEKXRF)
12 AR HERAT)
13 7E R(FRILKF)
14 A SEFHRERT)
15 SepASR—BBOABERS)
16 #4 £ BEF(RIBKRZF)
17 #H-BOERERS)
18 LUK /A (LLFFHRKRT)
19 1§48 X (FRIERTF)
20 AR LEZ(RFARF)
21 )\ ENE(BRBAEFER)
22 )l £ SE(FLINHIIKF)
23 WA P—>e0> N\ RT—)L)
24 B BAR(BAREKRE)
25 FH fE(BASEXRE)
26 TEE ZE(#HR)IKXEFE)
27 ZH SHEA(BREEKRF)

2

TF1P1" 15(0-8)

TF1P1" 03 (8-0)

20
F2P3' 30 (20-11)
TF2P4' 00 (8-3, 1-15)
4-5(0-0, 4-5)
.| 24
1-6 (0-1, 1-5)
TF1P1" 140-8)
21
+
TF1P1’ 35 (9-0)
3
' 22
TF1P1’ 24 (0-10)
TF1P2 11(9-0)]
25
TFIP2 37(11-2))
0-4(0-2,0-2)
1-5(0-4, 1-1)
23

105 (44, 6-1)|

TF2P3’ 45 (0-6, 4-6)

26




BFa2=T7o8 (PJLaO0-<>RP1)L)

| 74 kg

1 BEA A (BAREARE)
2 FKE Z(EEFHRAF)
3T DE(ERIEER)

4 =i —FE ()| IAZ)

5 K BEBILINHIZIKRE)
6 BlF EME(HRIIKFE)

7 #H BB EELZEFRKZE)
8 Hith &E(ELEEKXRTF)

9 &L F=AXRBEB(AASGEXRTF)
10 /)\AK BEIT(IRIEKRE)
11 3ZF[A (PRFEBRKFE)
12 F¥ HR(BAREEKXE)
13 &)l FREEELKE)
14 Al RREABEILFEBRRKRTE)
15 Kig FH(ELTEKXTF)
16 ZH B (fELLKZE)
17 eIl A GFERKRZ)

18 1E)I| BEX(HAKEKRT)

1

17

TF1P2' 59 (9-18)

TF1PO’ 27 (11-0)

16_

TF1P0O’ 48 (11-0)

11

F1P1' 31 (4-0)

4

TF1P1’ 36 (0-8)

12

15

TF1P1’ 23 (8-0)

12-9(2-6,10-3)

13

TF2P5’ 59 (0-4, 0-5)

F1P1' 55 (0-8)

2

F1P1' 29 (4-0)

14

16

17




BFa2=T7o8 (PJLaO0-<>RP1)L)

| 84 kgik

1 B R ERIERTE)

2 TEB =B (BILFBRKF)

3 HhfE) Bth(ELEKRT)

4 ¥ BT (FHLUKRE)

5 AH BE(FIRILKE)

6 BAE MEXRBB(RIFARTFE)

7 tRE KIE(ZEAKF)

8 AL MR (FIHRILUKEF)

9 LR FR(BAREKEKRE)
10 B K (FERIKZ)
11 FF IFR(PRERKF)
12 EIR s (fBILART)
13 HE B—(ELEXF)
14 Kk RE(ERETESK)
15 A# BARIELAKRZF)
16 #iK HER(RIFKRF)
17 BEB Z(BBILZFBRKF)
18 SRl (& (ETEEXRT)
19 AR HKAE)
20 BT — R (BMEXF)
21 AR SR T(JLNHIZKREF)

22 &0 ZEEFE/\IESK)

17

16

21

12

13

20

19

14

11

22

10

15

18

TF1P2" 16 (11-0

F1P1' 23 (4-0)

21

15
TF1P0O’ 46 (0-8)
19
5-11(0-2, 5-9)
F1P2 34(5-0)
16
TFIP1' 55 (8.0)
FIPO' 40 (4-0)
FIPT' 46 (4-1)
FIPO' 16 (4-0)
17
2-2(1-2.1-0)]
T FIPI46(7-4)
20
*
18
8-8(5-4, 3-0)|

TO2P4’ 24 (2-0, 4-2)




BFa2=T7o8 (PJLaO0-<>RP1)L)

| 96 kgik

1 2B HX(ETEXRT)

2 BRAER (BFEARTF)

3 1 E EBCREUEXRTF)
4 18O FER(KEZEKREF)
5 AR HESE(FIFRILALEAR)
6 RE BAX(HRAKBEKXEF)
7 M1 BE(FHILUAF)

8 A 2L (BRIEKRE)

9 % FIR(ELEEXF)
10 PRED sABE(#RJEKRZE)
11 X[E [ERESEEEAE)
12 MF SRBKILEFEBTKE)
13 KI BER(KEEAF)

14 R ERERUEERF)

| 120 kg#k

1 ER FFFRIEXRE)

2 BHEEEPRERAE)
3 £k ZR0(FHEEIRKTE)
4 FEF BRE(HR/IIXZE)

5 i IR (REXEFE)

6 BN BXR(LEFRKTE)
7 FEEEEEREAT)

8 HB/I| AXK(PRERRKE)
9 R BEMRMKXE)

10 B B (LLFFHRKFE)

1

9

12

13

14

11

10

10

Ji
TF1P2' 44 (8-0)
1
F1P1' 13 (5-2)
8
F1P2' 26 (4-2)
13
4-7(0-5, 4-2)
9
TF1PO’ 38 (8-0)
12
TF2P3' 25(11-4, 2-0)
10
3
7
4
9
5
8
F1P1’ 04 (5-0)
6




